Computer-Based Math Response Practice #3

Example: Solve the equation 8 + x=10
	x= 2. I know because I tried 8 + 1 instead of x and it equaled 9, but 8+ 2 equaled 10. 



Solve the equation: 9 - p = 2
	



Solve the equation: 10/?=2  (/ means divide)
	



Solve the equation: 10 x M= 110
	



Solve the equation: g + 11 = 21
	



Solve the equation: c - 15 = 15
	



Solve the equation: 4 x 3 = b
	



Extended Response
Deontae and Devontae went to the carnival. They decided to play a game to win a giant stuffed banana. To play, they had to pay $2 for three balls and try to knock down a target. If they have $10, how many balls can they buy?
Answer:
	




